ADR-B %7l
BiEEnEszR i

C =L

m SRR ARI RN
m(RSESRN

m (REHRESRA

n EERSIBKEIREA
m KRIPAAE




ADR110 %

g
BER
BISE
&R
SRR
I&EH%E
RANIEIE (IEE-1EE )
TEEE
REBENHEES
LR
BB
(BRI
RARLHEE
EgfE®
RR®
FEBSHRES
RS
EE
BrIRE
HEEEARE @230V AC? (#=8)
HEEEAREE @230V AC® (1EHE)
AB-30055 &) Emias
HFENHE (64X)
IEHIEMDHHER ( 512 X)
EIEMDDHER (4096 X)
SR (ETAB-3005)
EESRE (ETAB-3005)
immRBksh
RrRPksn
BAMEEA®
BAESE®

ADR135 &

g
EHER
BEE
&
= 5ya)ic)
I&EI5E
BAHIEE (IEE-IEE )
JIEEE
REBEhBEES
FEEEEER
IEERETR
IEEMINER
BRASEZEE
EgpE®
FR®
EBSATIRIEEL
EBHES
RE
®BTiEE
HERALLE @230V AC® (H=E)
=R AILE @230V AC® (1E#E2)
AB-4103¢ 154 E4mr58s
HFEDIHER (64 X)
IS DR ( 512X)
TEHIEHS DR (4096 X )
RS (EFAB-4103)
ESHE (ETAB-4103)
Lkl
REBkan
BAMEEES
BAHESE
Derinzesin | 25 BRE.
QSR T LB RIS TR,
QFEBRBLENA , EEHEKR.

Nm
Nm
Nm
Nm/Arms
Vpeak/rpm
Arms
Arms
W
w
Vdc
ohms
mH
ms
Nm/Sqrt(W)
kg
kpz-m2
rpm
rpm
lines
Counts/rev
Counts/rev
Counts/rev
arc sec
arc sec
um
um

Nm

Nm
Nm
Nm
Nm/Arms
Vpeak/rpm
Arms
Arms
W
W
Vdc
ohms
mH
ms
Nm/Sqrt(W)
kg
ke:m®
rpm
rpm
lines
Counts/rev
Counts/rev
Counts/rev
arc sec
arc sec
um
um
N
Nm

ADR110-B113

EREX FHER
110
113
16
iLe) 1.9
5.8 5.8
0.002 0.002
0.65 0.32
0.055 0.028
3.00 6.00
9.00 18.00
28.80 28.80
259.20 259.20
550.0 550.0
3.20 0.80
17.15 4.29
5.36 5.36
0.36 0.36
3.2 3.2
0.000309 0.000309
1,200 1,200
2,000 2,000
3,005 3,005
192,320 192,320
1,538,560 1,538,560
12,308,480 12,308,480
+/-20 +/-20
+/-2.7 +/-2.7
439
25
ADR135-B121
REX FHER
135
‘121
16
5.2 5.2
15.5 15.5
0.010 0.010
1.72 0.86
0.147 0.074
3.00 6.00
9.00 18.00
59.40 59.40
534.60 534.60
550.0 550.0
6.60 1.65
45.30 11.20
6.86 6.79
0.67 0.67
3.9 3.9
0.000992 0.000992
1,190 1,200
1,190 2,000
4,103 4,103
262,592 262,592
2,100,736 2,100,736
16,805,888 16,805,888
+/-25 +/-25
+/-2 +/-2
604
45

ADR110-B136

EREX FHER
110
136
16
4.2 4.2
12.6 12.6
0.005 0.005
1.40 0.70
0.119 0.060
3.00 6.00
9.00 18.00
44.10 43.56
396.90 392.04
550.0 550.0
4.90 1.21
26.26 6.49
5.36 5.36
0.63 0.63
4.6 4.6
0.000442 0.000442
1,200 1,200
1,600 2,000
3,005 3,005
192,320 192,320
1,538,560 1,538,560
12,308,480 12,308,480
+/-20 +/-20
+/-2.7 +/-2.7
15
15
439
25
ADR135-B148
ERER FHEX
135
148
16
11.0 11.0
32.9 32.9
0.022 0.022
3.66 1.83
0.313 0.156
3.00 6.00
9.00 18.00
96.30 97.20
866.70 874.80
550.0 550.0
10.70 2.70
72.76 18.63
6.80 6.90
1.12 111
5.7 5.7
0.001332 0.001332
580 1,190
580 1,190
4,103 4,103
262,592 262,592
2,100,736 2,100,736
16,805,888 16,805,888
+/-25 +/-25
+/-2 +/-2
15
15
604
45



ADR175 £

g
EBHER
BiEE
REL
o)l
IEEN%E
BRASIEE (IEE-IEE )
JIrEEE
REBFIEEE
R
IE{EEBTR
SEAThER
IE{EHINER
BRAERE
FaE®
ER/R®
FESHTIAIESL
FEHEE
RE
BTIRE
HERALE @230V AC? (=8
HEEFRARE @230V AC® (&)
AB-507 115 ERIEES
HFEDWER (64X)
IEHIBMD DR ( 512 X)
IEHIEMD DI (4096 X )
SR (EFAB-5071)
EERE (ETAB-5071)
imBkah
ZEBksh
BAMEHT
BAIEHEC

ADR220 £
g
EEHER
EEHEE
REL
ECzowa)iz]
(ES[=papic]
BRANIEFE (IEE-1&E )
JIsEEE
REBEIEER
FHERERTR
IEEER
HETAINER
IE{EHINER
BAREHE
EERE®
BR®
FESATEESL
FEAEE
RE
BYIRE
230VEAHEEEES (HFR)
230VE AR (1EE )
AB-5071/ BN S5m0
HFENHEE (64X)
B EMD DR ( 512 X)
RS DHEER (4096 X )
EREE (ETAB-5071)
EEHE (ETAB-5071)
ihmEBkah
REmbkah
BARHEEES
BAHEERE
OEimzEs | 25 BRE,
QS IRTF R ERID R T,
QEBAIBLENA , BOHEHE.

q Akribis

Nm
Nm
Nm
Nm/Arms
Vpeak/rpm
Arms
Arms
W
W
Vdc
ohms
mH
ms
Nm/Sqrt(W)
kg
kg-m2
rpm
rpm
lines
Counts/rev
Counts/rev
Counts/rev
arc sec
arc sec
um
um
N
Nm

Nm
Nm
Nm/Arms
Vpeak/rpm
Arms
Arms
w
W
Vdc
ohms
mH
ms
Nm/Sqrt(W)
kg
kg~m2
rpm
rpm
lines
Counts/rev
Counts/rev
Counts/rev
arc sec
arc sec
um
um
N
Nm

ADR175-B143

EREX FFEX
175
143
16
15.7 15.7
47.2 47.2
0.094 0.094
3.93 1.97
0.336 0.168
4.00 8.00
12.00 24.00
84.37 83.20
759.37 748.80
550.0 550.0
5.27 1.30
45.72 11.27
8.67 8.67
1.71 1.72
10.0 10.0
0.005422 0.005422
540 1,080
540 1,080
5,071 5,071
324,544 324,544
2,596,352 2,596,352
20,770,816 20,770,816
+/-25 +/-25
+/-2 +/-2
20
20
1,256
65
ADR220-B167
REX FHER
220
167
24
46.0 46.0
137.9 137.9
0.357 0.357
8.51 2.84
0.728 0.243
5.40 16.20
16.20 48.60
171.17 194.21
1540.52 1747.85
550.0 550.0
5.87 0.74
53.60 6.30
9.13 8.51
3.51 3.30
15.6 15.6
0.017858 0.017858
282 846
282 846
5,071 5,071
324,544 324,544
2,596,352 2,596,352
20,770,816 20,770,816
+/-25 +/-25
+/-2 +/-2
25
25
1,669
85

ADR175-B180

EREX FHEX
175
180
16
329 32.9
98.6 98.6
0.197 0.197
8.22 4.11
0.703 0.351
4.00 8.00
12.00 24.00
132.80 136.64
1195.20 1229.74
550.0 550.0
8.30 2.13
72.00 18.51
8.67 8.67
2.85 2.81
11.6 11.6
0.007621 0.007621
310 558
310 558
5,071 5,071
324,544 324,544
2,596,352 2,596,352
20,770,816 20,770,816
+/-25 +/-25
+/-2 +/-2
1,256
65

ADR220-B217

REX FEX
220
217
24
94.9 94.9
284.6 284.6
0.736 0.736
17.57 5.86
1.502 0.501
5.40 16.20
16.20 48.60
300.93 314.93
2708.38 2834.35
550.0 550.0
10.32 1.20
106.70 11.90
10.34 9.92
5.47 5.35
234 234
0.025216 0.025216
130 395
130 395
5,071 5,071
324,544 324,544
2,596,352 2,596,352
20,770,816 20,770,816
+/-25 +/-25
+/-2 +/-2
1,669
85



ADR110-B113
113.0 - 6%M5x0.8 T10.0

6 xM4x0.7 I 8.0 132.0 THRU ALL e
on PCD 54.0 ‘-3-3210 H7 ¥ 10.0 1 7.3 on PCD 78.0
30,00
2x @ 4.0H7
> 8.0

on PCD 54.0

o w
oo
Qlco
S ;
T = 2 ]
I o ~ of
U’é S/
1 — |2xD5.0H7T 7.0
on PCD 78.0
| 515 _ |
Standard Cable length= 3.0m
- Motor cable = @711
-Hallcable = ©5.2
- Encoder cable = $4.0
ADR110-B136
§ 136.0 T
) xof\:zgco.; 5.4 08,0 #7320 THRU ALL = = 6 x M5x0.8 1 10.0
= $32.0 H7 ¥ 10.0 .73 oo onpeb/so
. | ‘ \ 30,00
2% ¢ 4.0H7 . / " O’O-:'».
8.0 T I
on PCD 54.0 1
. T
own
oo
Qoo
=
. -9 |
i Q ~ DO
e i W
! d — | 2x@ 50H7V 7.0
on PCD 78.0
51.5

Standard cable length= 3.0m
- Motor cable = @7.0
- Hall cable = 5.2

- Encoder cable = @ 4.0




ADR135-B121

8 x M4x0.7 | 8.0

on PCD 72.0

(> 48.0 THRU ALL
©48.0H7 1 10.0

ADR135-B148

8 x M4x0.7 I 8.0

 onPCD720 7 48.0 THRU ALL

~ @®48.0H7 1100
2x D

I 8.0
onPCD72.0

©135.0

0.00

_ $96.0 -0.05

121.0 . 6 x M5x0.8 ¥ 10.0
on PCD 88.0
_ 7.3
30,0
[
— [2x}5.0H7T 7.0
on PCD 88.0
515
s =

Standard cable length= 3.0m
- Motor cable = @ 7.0
-Hallcable = $5.2
- Encoder cable = 4.0

148.0 6x M5x0.8 ¥ 10.0

7.3

on PCD 88.0

30,00

515

-

[2x®50H7V 7.0
on PCD 88.0

=]

Standard cable length= 3.0m
- Motor cable = $7.0

- Hall cable = @5.2

- Encoder cable = @ 4.0




ADR175-B143

143.0 o
8xM5x0.8 T 10.0 ®72.0 THRU ALL 8x M5x0.8 ¥ 10.0
onPCD 1020  $720H7 7100 —caf ee/B onPCD 1250 234
2x § 5.0H7
T 10.0 o
on PCD 102.0 1
oW
SO
ol @<
.
— [
a @
L

T

[2xP5.0H7 7.0

on PCD 125.0
L 51.0_|
Standard cable length= 3.0m
- Motor cable = @80
- Hall cable = 5.2
- Encoder cable = ©4.0
ADR175-B180
L 180.0 . )
8xM5x0.8 T 10.0 #72.0 THRU ALL 8x M5x0.8 7 10.0
on PCD 102.0 B720H7 T100 —ets’8 _onPCD 1250 =
2x () 5.0H7 T —
v 10.0 b
on PCD 102.0 i
ol © (;5
I
1 E § T

Standard cable length= 3.0m
- Motor cable = @80

- Hall cable = 5.2

- Encoder cable = ©4.0

[2xD50H7 T7.0
on PCD 125.0



ADR220-B167

8 x M5x0.8 ¥ 10.0
on PCD 120.0 7:87.0 THRU ALL
?87.0 H7 ¥ 10.0
2% @ 5.0H7

v 10.0
on PCD 120.0

ADR220-B217
8 x M5x0.8 I 10.0
on PCD 120.0 0 87.0 THRU ALL
©87.0H7 7 10.0
2x @ 5.0H7 :
I 10.0 |
on PCD 120.0
8
(=] =]
o
f I

7 220.0

0.00

0 154.0 -0.05

167.0

_83

8xMéx1.0 1120
- on PCD 150.0

/ 2250

0.05

0154.0

[1

|27.0_|

[2x®6.0H7 8.0
on PCD 150.0

Standard cable length= 3.0m
- Mofor cable = 9.5

- Hall cable = $5.2

- Encoder cable = ¥ 4.0

8 x Méx1.0 T 12.0
= on PCD 150.0

[/

|s7.0_|

[2x©D6.0H7 8.0
| onPCD 150.0

- Motor cable =
- Hall cable = 5.2
- Encoder cable = $4.0

Standard cable length= 3.0m
@95




YRILT IS

i 8BS ERFHER mEEEE | &K fmidz8 REHS ZrEkE)
ADR110 | B113/B136 AB-3005 P15
ADR135 | B121/B148 s/ JK 3.0 AB-4103 SINCOS/64X P15
ADR175 | B143/B180 AB-5071 P20
ADR220 | B167/B217 AB-5071 P25

P25 = ihm@Bksh 25um, ZAPEEH 25um
P20 = ihm@Bksh 20um, Z@APEEH 20um
P15 = APkt 15um, E2EBEED 15um

= iREFR

K= PT100 (}%E8}H)

a6l : ADR135-B121-S-J-3.0-AB-4103-SINCOS-P15

ADR175-B180-P-J-3.0-AB-5071-SINCOS-P20



